
Q1) Answer any TEN of the following TWELVE questions. [10]

i) Who wrote the book Positive Philosophy?

ii) Which treatise did Montesquieu write for the Enlightenment?

iii) Where did the French Revolution take place?

iv) Which dynasty ruled France?

v) In which continent did the Industrial Revolution take place?

vi) Which sociologist introduced the concept of 'Reference Group'?

vii) What is the concept of hierarchical position of individuals in society
called?

viii) What determines a person's 'Social Class’?

ix) Education which is imparted through educational institutions is called
what education?

x) How many classes existed in France?

xi) Learning which is imparted only through social interaction is called what
education?

xii) What kind of group is a family?
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Q2) Write the answer to any FIVE of the following SEVEN questions. [25]

i) Explain the concept of 'Enlightenment Period'.

ii) Explain about 'Scientific Revolution'.

iii) Write in brief about Industrial Revolution.

iv) What is 'Social Inequality'?

v) Write about 'Liberal' democracy.

vi) Explain the concept of 'Totem'.

vii) Tell about Science and Technology.

Q3) Write the answer to any FIVE of the following SEVEN questions. [25]

i) Write about factors of Social Change.

ii) State what is Governance.

iii) Explain the concept of 'Secularism'.

iv) Explain the concept of 'Social Taboo'.

v) Explain about 'Gandhi’s Socialism'.

vi) Explain the concept of 'Poverty'.

vii) Write information about 'Method of Distance Education'.

Q4) Write the answer to any one of the following two questions. [10]

i) Critically examine the roles of Print and Non-Print Media.

ii) Explain the meaning of Social Stratification and state its basic features.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb ~mam àým§ n¡H$s H$moUVohr Xhm àým§Mo CÎma {bhm. [10]

i) nm°{P{Q>ìh {\$bm°gm\$s hm J«§W H$moUr {b{hbm?

ii) à~moYZmgmR>r _m°ÝQ>oñŠ ỳ Zo H$moUVm J«§W {b{hbm?

iii) \«§o$M amÁ`H«$m§Vr H$moR>o Pmbr?

iv) \«$mÝg_Ü ò H$moUË`m amÁ`KamÊ`mMr gÎmm hmoVr?

v) Am¡Úmo{JH$ H«$m§Vr H$moUË`m I§S>mV Pmbr?

vi) "g§X ©̂ g_yh' hr g§H$ënZm H$moUË`m g_mOemókm§Zr _m§S>br?

vii) g_mOm_Ü ò ì`ŠVrbm CVa§S>rZwgma ñWmZ àmá hmoVo `m g§H$ënZobm H$m` åhUVmV?

viii) gm_m{OH$ dJ© ho ì`ŠVrMo H$m` {ZYm©[aV H$aVmo?

ix) Oo {ejU e¡j{UH$ g§ñWm§À`m _mÜ`_mVyZ {Xbo OmVo Aem {ejUmg H$moUVo {ejU åhUVmV?

x) \«$mÝg_Ü ò {H$Vr dJ© ApñVËdmV hmoVo?

xi) Oo {ejU Ho$di gm_m{OH$ g§nH$m©Ûmao {Xbo OmVo Aem {ejUmbm H$moUVo {ejU åhUVmV?

xii) Hw$Qw>§~ hm EH$ H$moUVm g_yh Amho?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb gmV n¡H$s H$moUVohr nmM àým§Mo CÎma {bhm. [25]

i) "à~moYZ H$mi' hr g§H$ënZm ñnï> H$am.

ii) "d¡km{ZH$ H«$m§Vr' {df`r _m{hVr gm§Jm.

iii) Am¡Úmo{JH$ H«$m§Vr {df`r WmoS>Š`mV {bhm.

iv) "gm_m{OH$ {df_Vm' åhUOo H$m`?

v) "CXma_VdmXr' bmoH$emhr `m {df`r {bhm.

vi) "Q>moQ>_' hr g§H$ënZm {deX H$am.

vii) {dkmZ Am{U V§ÌkmZ `m {df`r _m{hVr gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb gmV n¡H$s H$moUVohr nmM àým§Mo CÎma {bhm. [25]

i) gm_m{OH$ n[adV©ZmMo KQ>H$ `m {df`r _m{hVr {bhm.

ii) emgZ åhUOo H$m` Vo gm§Jm.

iii) "Y_©{ZanojVm' hr g§H$ënZm ñnï> H$am.

iv) "gm_m{OH$ dOuVVm' hr gH$ënZm gm§Jm.

v) "Jm§YrdmXr g_mOdmX' `m {df`r _m{hVr Úm.

vi) "Jar~r' hr g§H$ënZm ñnï> H$am.

vii) "Xÿa {ejU nÕVr' {df`r _m{hVr {bhm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb XmoZ n¡H$s H$moUVohr EH$m àým§Mo CÎma {bhm. [10]

i) _w{ÐV d A_w{ÐV _mÜ`_m§À`m ŷ{_H$m§Mo Q>rH$mË_H$ narjU H$am.

ii) gm_m{OH$ ñVarH$aUmMm AW© gm§JyZ Ë`mMr _yb ŷV d¡{eîQ>ço gm§Jm.


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Q1) Attempt any ten out of twelve from the following. [10×1=10]

a) What was the second novel of R.K. Narayan?

b) Where was A.G. Gardiner born?

c) What was the rent of the flat in which the Dillinghams stayed?

d) Which lines narrates the essence of the story ‘In Sahyadri Hills’ A lesson
in Humility?

e) What were Emily Dickinson’s religious views?

f) What was the poem ‘Queen Mab’ all about?

g) What was the purpose of writing ‘Lyrical Ballads’ according to
Wordsworth and Coleridge?

h) Define Consonant.

i) Insert is or are after the word in the following sentences.

i) There _______ eleven players in the football team.

ii) There _______ nothing to be afraid of.

j) Define Condolence.

k) Write two elements of ‘Apology’.

l) What is setting?

P.T.O.
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Q2) Attempt any five out of seven from the following. [5×5=25]

a) What is the difference between the present continuous and present perfect
tense.

b) Discuss the different punctuation marks and their use.

c) Do you think ending of the story ‘Engine Trouble’ is realistic? Justify.

d) Critically appreciate A.G. Gardiner’s ‘On saying Please’ with attention
to the wit of the author.

e) Discuss the different ways of making request.

f) Explain how to congratulate someone.

g) Comment on the theme of Love in the poem ‘A Red Red Rose’.

Q3) Attempt any five out of seven from the following. [5×5=25]

a) Discuss the spiritual perspective of Rabindranath Tagore in the poem.
‘Leave this Chanting and Singing’.

b) Describe the importance of prepositions in English language.

c) How should a formal complaint letter be written?

d) Summerize the poem ‘Ozymandiaus’ in your own words.

e) ‘Millionare models are rare enough, but model millionares are rarer still’!
Critically comment on the statement from the story. ‘The Model
Millionaire’.

f) State some of the philanthropic activities of Sudha Murthy in the story
‘In Sahyadri Hills’.

g) Differentiate between regular and irregular verbs with appropriate eamples.

Q4) Attempt any one out of two from the following. [1×10=10]
a) Do you feel the unnamed characters of the story ‘The Eyes Not Here’

makes an impact in the reading of the story? Why do you think so?
Discuss by giving appropriate reasons.

b) With reference to the poem ‘My Heart Leaps Up’, critically analyze

Wordsworth’s relationship with nature.

 
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Q1) Answer the following question in a sentence each (any 10). [10]

i) What are the two main periods of history?

ii) Who invented the Harappan civilization?

iii) In which year Harappan culture was discovered?

iv) What were the baked goods of clay called?

v) What does the word ‘vid’ Mean?

vi) Which veda is know as the oldest veda?

vii) Where was Gautam Buddha born?

viii) What was the total numbers of Mahajanapadas?

ix) In which year did emperor Ashoka conquer the kalinga region?

x) Who is mentioned as the best king of kushan Dyanasty?

xi) What was the capital of Satavahanas?

xii) Who was the founder of the Gupta Empire?

P.T.O.
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Q2) Answer any five of the following seven questions in 50 to 100 words: [25]

a) Briefly explain the concept of History of Ancient India?

b) Write a Information about the concept of Numismatics?

c) What is an archive?

d) Write the features of urban planning in Harappan culture.

e) Write the reasons for the decline of Harappan civilization.

f) Write the contribution and importance of Jainism.

g) Briefly explain the Mauryan administrative system.

Q3) Write short note on any five of the following. [25]

a) Expansion of Kanishka’s Empire.

b) Gautamiputra Satakarni.

c) Municipal administration during Satavahana period.

d) Sangam Literature.

e) Gupta Golden Age.

f) Agricultural system during Gupta period.

g) Reasons for the rise of the Shung Dynasty.

Q4) Answer the following questions in 150 to 200 words (any one). [10]

a) Write in detail the social life of Vedic period.

OR

b) Explain in detail the social conditions during the Satavahana Period.


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à.à.à.à.à.1) Imbrb àíZm§Mr EH$m dm³¶mV CÎmao {bhm. (H$moUVohr Xhm) [10]

i) B{VhmgmMo XmoZ ‘w»¶ H$mbI§S> H$moUVo?

ii) hS>ßnm g§ñH¥$VrMm emoY H$moUr bmdbm?

iii) hS>ßnm g§ñH¥$VrMm emoY H$moUË¶m gmbr bmJbm?

iv) ‘mVrÀ¶m n³³¶m ^mOboë¶m dñVyZm H$m¶ åhQ>bo OmV Ago?

v) {dX² ¶m eãXmMm AW© H$m¶ hmoVmo?

vi) gdm©V àmMrZ doX åhUyZ H$moUVm doX AmoiIbm OmVmo?

vii) Jm¡V‘ ~wÕm§Mm OÝ‘ H$moR>o Pmbm?

viii) ‘hmOZnXm§Mr g§»¶m EHy$U {H$Vr hmoVr?

ix) g‘«mQ> AemoH$mZo H$qbJ àXoe H$moUË¶m gmbr qOHy$Z KoVbm?

x) Hw$fmU d§emVrb gd©loð> amOm åhUyZ H$moUmMm C„oI Ho$bm OmVmo.

xi) gmVdmhZm§Mr amOYmZr H$moUVr hmoVr?

xii) Jwá gm‘«mÁ¶mMm g§ñWmnH$ H$moU hmoVm?

P4377
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à.à.à.à.à.2) Imbrb gmV àíZm§n¡H$s H$moUË¶mhr nmM àíZm§Mr CÎmao 50 Vo 100 eãXm§V {bhm. [25]

A) àmMrZ ^maVmMm B{Vhmg hr g§H$ënZm WmoS>³¶mV ñnï> H$am.

~) ZmZH$emñÌ ¶m g§H$ënZo{df¶r ‘m{hVr {bhm.

H$) nwam{^boI åhUOo H$m¶?

S>) hS>ßnm g§ñH¥$VrVrb ZJaaMZoMr d¡{eï>ço {bhm.

B) hS>ßnm g§ñH¥$VrÀ¶m èhmgmMr H$maUo {bhm.

’$) O¡Z Y‘m©Mo ¶moJXmZ d ‘hÎd {deX H$am.

¶) ‘m¡¶©H$mbrZ àemgZì¶dñWm WmoS>³¶mV ñnï> H$am.

à.à.à.à.à.3) Imbrb gmV àíZm§n¡H$s H$moUË¶mhr nmM àíZm§Mr CÎmao g§{já ñdê$nmV {bhm. [25]

A) H${ZîH$mMm gm‘«mÁ¶{dñVma

~) Jm¡V‘r nwÌ gmVH$Uu

H$) gmVdmhZH$mbrZ ZJa àemgZ

S>) g§J‘ gm{hË¶

B>) JwáH$mbrZ "gwdU©¶wJ'

’$) JwáH$mbrZ H¥$frì¶dñWm

¶) e§wJ KamÊ¶mÀ¶m CXçmMr H$maUo.

à.à.à.à.à.4) Imbrbn¡H$s EH$m àíZmMo CÎma 150 Vo 200 eãXm§V {bhm. [10]

A) d¡{XH$ H$miI§S>mVrb gm‘m{OH$ OrdZ g{dñVa {bhm.

qH$dm

~) gmVdmhZ H$mbrZ gm‘m{OH$ n[apñWVr g{dñVa {bhm.


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Q1) Attempt any ten out of twelve. [10×1=10]

i) Find the value of (9)–1/2.

ii) Solve (6x + 7y) (4x + 9y).

iii) Solve the limit;   
4

lim  8 5
x

x x


  .

iv) If y = 3x2 + 5x + 8 Find dy

dx
.

v) Give an example of increasing real valued function.

vi) Find the value of log
4
(2).

vii) Write any two properties of logarithmic functions.

viii) What is Discounting?

ix) What is meant by zero matrix?

x) If 
1 2

A
3 4

 
  
 

 and 
5 6

B
7 8

 
  
 

 then find A+B.

xi) If 
9 0

A
1 9

 
  
 

 find A .

xii) Find 2 .y x dx 

P.T.O.
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Q2) Attempt any five out of Seven. [5×5=25]

i) Find the integral value I 2 .xxe dx 
ii) If the rate of net investment is   3/4140y t t  with initial stock of capital

is 150 at t=0. Determine the function for capital K.

iii) Using the properties of integrals, find the area of the region between two

functions 2
1 3 6 8y x x    and 2

2 2 4 1y x x    from x = 0 to x = 2.

iv) Explain the difference between consumer’s surplus and producer’s

surplus.

v) If 
3 6 7

A
12 9 11

 
  
 

 and 

6 12

B 5 10 .

13 2

 
   
  

 Show that AB BA.

vi) Write the matrix expression of the following system of equation:
2 10 and 5.x y x  

vii) If 

4 5 6

A 7 8 9

10 11 12

 
   
  

 and 
1 2

B .
3 4

 
  
 

 Then find AN and BI, where N is

null matrix of order 3×3 and I is identity matrix of order 2×2.

Q3) Attempt any five out of seven. [5×5=25]
i) Find the determinant of the matrix A using cofactors. Where

8 3 2

A 6 4 7 .

5 1 3

 
   
  

ii) Find the inverse of matrix 
4 1 5

A 2 3 1

3 1 4

 
   
  

using adjoint method.
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iii) Explain the difference between row matrix and column matrix with an

example and write any two applications of matrix in real life.

vi) Explain the process of converting exponential to natural exponential

function.

v) Explain the difference between effective and nominal rates of interest.

vi) Write a note on exponential function.

vii) What is optimizing economic functions? Explain with an example.

Q4) Attempt any one out of two. [1×10=10]

i) If 2 3TP 90K K ,   find the relationship between the total, average and

marginal products.

ii) Write any 5 rules of differentiation along with an example.

 
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Q1) Answer the following questions in one sentence. (Any 10) [10]

a) What is Economic Environment?

b) Write the definition of service area.

c) What is Education?

d) What is Tourism?

e) What is rural entrepreneurship?

f) What is Regional Imbalance?

g) What is crop diagram?

h) Write the full form of NEFT.

i) What is E-Finance?

j) Write two functions of a bank.

k) What is Privatization?

l) What is unemployment?

SEAT No. :

P.T.O.
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Q2) Answer the following questions in 50 to 100 words. (Any 5) [25]
a) Explain the types of energy resources.
b) Explain the challenges facing the education sector.
c) Explain the concept of digital economy.
d) State the technological challenges facing Indian industries.
e) Explain the types of poverty.
f) Compare Private Banks and Government Banks.
g) Explain the effects of privatization.

Q3) Answer the following questions in 50 to 100 words. (Any 5) [25]
a) Explain the Industrial Policy of 1991.
b) Explain the challenges facing the tourism sector.
c) Explain the social and cultural factors that affect the economic environment.
d) Explain what are micro and small-scale enterprises.
e) Explain the types of rural unemployment.
f) Write the primary function of a bank.
g) Explain the informal sector in India.

Q4) Answer the following question in 150 to 200 words. (Any 1) [10]
a) Explain the role of agriculture in Indian economy.
b) State the causes of poverty and explain the measures taken by the

government to address it.


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àíZ 1) Imbrb àíZm§Mr EH$m dmŠ`mV CÎmao {bhm. (H$moUVohr 10) [10]

A) Am{W©H$ n`m©daU åhUOo H$m`?

~) godm joÌmMr ì`m»`m {bhm.

H$) {ejU åhUOo H$m`?

S>) n ©̀Q>Z åhUOo H$m`?

B) J«m_rU CXçmoOH$Vm åhUOo H$m`?

\$) àmXo{eH$ Ag_moVb åhUOo H$m`?

`) nrH$ AmH¥$Vr ~§Y åhUOo H$m`?

a) NEFT Mo nyU© ê$n {bhm.

b) B©-\$m`ZmÝg åhUOo H$m`?

d) ~±Ho$Mr XmoZ H$m }̀ {bhm.

e) ImOJrH$aU åhUOo H$m`?

f) ~oamoOJmar åhUOo H$m`?

P.T.O.
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àíZ 2) Imbrb àíZm§Mr 50 Vo 100 eãXm§V CÎmao {bhm. (H$moUVohr 5) [25]

A) D$Om© g§gmYZo åhUOo H$m` gm§JyZ àH$ma ñnï> H$am.

~) {ejU joÌmg_moarb AmìhmZo ñnï> H$am.

H$) {S>OrQ>b BH$m°Zm°_r g§H$ënZm ñnï> H$am.

S>) ^maVr` CXçmoJm§nwT>rb V§ÌkmZ{df`H$ AmìhmZo gm§Jm.

B) Ðm[aÐçmMo àH$ma ñnï> H$am.

\$) ImOJr ~±H$m d gaH$mar ~±H$m VwbZm H$am.

`) ImOJrH$aUmMo n[aUm_ ñnï> H$am.

àíZ 3) Imbrb àíZm§Mr 50 Vo 100 eãXm§V CÎmao {bhm. (H$moUVohr 5) [25]

A) 1991 Mo Am¡Xçmo{JH$ YmoaU ñnï> H$am.

~) n ©̀Q>Z joÌmg_moarb AmìhmZo ñnï> H$am.

H$) Am{W©H$ n`m©daUmda n[aUm_ H$aUmao gm_m{OH$ d gm§ñH¥${VH$ KQ>H$ ñnï> H$am.

S>) gwú_ d bKw CXçmoJ åhUOo H$m` ñnï> H$am.

B) J«m_rU ~oamoOJmarMo àH$ma ñnï> H$am.

\$) ~±Ho$Mr àmW{_H$ H$m ©̀ {bhm.

`) ^maVmVrb AZm¡nMm[aH$ joÌ ñnï> H$am.

àíZ 4) Imbrb àíZmMo 150 Vo 200 eãXm§V CÎma {bhm. (H$moUVmhr 1) [10]

A) ^maVr` eoVrMr AW©ì`dñWoVrb ŷ{_H$m ñnï> H$am.

~) Ðm[aÐçmMr H$maUo gm§JyZ gaH$maZo Ë`mda Ho$boë`m Cnm` `moOZm ñnï> H$am.


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Q1) Attempt any TEN of the following. [10]

a) Let A be the set of n × n real symmetric matrices, and B the set of n × n
real skew-symmetric matrices. Find AB.

b) Define partition of a set.

c) If n  is an odd integer, then show that n2 – 1 is divisible by 8.

d) Write 819 and 658 in its cannonical form and find their gcd and lcm.

e) Sketch the set of points determined by the given condition Re( z – i) = 2.

f) If z = x + iy, then show that the hyperbola x2 – y2 = 1 can be written as
z2 + 2z  = 2.

g) Find the new co-ordinates of the point (0, 2), when the origin is shifted to
the point (1, 4).

h) A line makes angles 45º with x axis and 60º with y axis. Find the angle
made by the line with z axis.

i) Find the direction cosines of the line whose direction ratios are 3, 1, 4.

j) Write the equation of plane in normal form and intercept form.

k) Find the distance of the origin from the plane x – 2y + 3z – 11 = 0.

l) Find the equation of tangent plane to the sphere x2 + y2 + z2 + 4x – 6y = 0 at
the point (–2 , 6, 2).

P.T.O.
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Q2) Attempt any FIVE of the following. [25]
a) For any two sets A and B, show that (A B) \ (A ) = (A \ B)  (B \ A).

b) Let  be a relation defined on   by x y if and only if 5x + 6y is an
integral multiple of 11. Show that the relation   is an equivalence relation
on  .

c) If a, b are integers, not both zero, then there exists a unique positive gcd
of a and b which can be expressed in the form

       gcd (a, b) = ax0 + by0.
d) Show that 53103 + 10353 is divisible by 39.

e) Prove that the element na   has an inverse for multiplication modulo n
if and only if (a, n) = 1.

f) Show that |z1 + z2|2 + |z1 – z2|2 = 2(|z1|2 + |z2|2), for any two complex
numbers z1 and z2.

g)  Find all values of   
1
48 8 3i  .

Q3) Attempt any FIVE of the following. [25]
a) Reduce the equation x2 – 4xy + 4y2 – 6x – 8y + 5 = 0 in its standard

form.
b) If L1 and L2 be two lines in the space whose direction cosines are

(l1, m1, n1) and (l2, m2, n2,) respectively and  is the acute angle between
L1 and L2, then prove that

cos  = l1l2 + m1m2 + n1n2.
c) Find the direction cosines of the normal to the plane 2x – 3y + 6z = 7.

Also, find the length of perpendicular from the origin to the plane.
d) Prove that the equation of a plane passing through  a point

A(x1, y1, z1) and perpendicular to two planes a1x + b1y + c1z + d1 = 0,
a2x + b2y + c2z + d2 = 0 is

              

1 1 1

1 1 1

2 2 2

x x y y z z
a b c
a b c

  

= 0.

e) Find the point where the line joining (2, –3, 1) and (3, –4, –5) cuts the
plane 2x + y + z = 7.
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f) Prove that equation of the type
x2 + y2 + z2 + 2ux + 2vy + 2wz + d = 0,

where u, u, w, d are constants and u2 + v2 + w2 – d  0, represents a

sphere with centre (–u, –v, –w) and radius 2 2 2 .u v w d  
g) Find the co-ordinates of the points where the line

         
3 4 8

4 3 5
x y z  

 


intersects the sphere x2 + y2 + z2 + 2x – 10y – 23 = 0.

Q4) Attempt Any ONE of the following. [10]
a) Let f : X  Y be a function. Let B1, B2 be subsets of Y. Then prove that

i) 1f  (B1  B2) = 1f  (B1)  1f  (B2).

ii) 1f  (B1 B2) = 1f  (B1)  1f  (B2).

b) If by rotating the axes through an angle without changing the origin the
equation Ax2 + Bxy + Cy2 + Dx + Ey + F = 0 is transformed into
ax2 + bxy + cy2 + dx + ey + f = 0, then show that  A + C = a + c and
4Ac – B2 = 4ac – b2.


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Q1) Attempt any ten out of twelve from the following. [10×1=10]

a) Who was elected as the Interim President of the Constitution Committee
of India?

b) Who was the president of Indian constitution committee?

c) When was the first meeting of the constitution committee held?

d) Who is the current president of India?

e) From which country were the guiding principles of the Indian constitution
taken?

f) What type of government system is there in India?

g) In which case the fundamental right was included?

h) Who presides over the joint sitting of Lok Sabha and Rajya Sabha?

i) Under which section the provision of centeral and state public service
commission?

j) Who oppoints the Chief Minister?

k) Who gives legal advice to the Governor?

l) What is the retirement age of a Supreme Court Judge?

P.T.O.
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Q2) Attempt any five out of seven from the following. [5×5=25]

a) Explain the nature of Indian Constitution.

b) Give details of right to equality.

c) Explain the characteristics of Indian Union.

d) Explain the fundamental duties.

e) Explain the process of constitutional amendment in India.

f) Powers and functions of legislative Assembly?

g) What is public Interest litigation?

Q3) Attempt any five out of seven from the following. [5×5=25]

a) Give any five fundamental right.

b) Explain the importance of preamble in the constitution of India?

c) Cultural and educational right.

d) Explain the Sarkaria Commission.

e) Power and functions of the Speaker of the Lok Sabha.

f) Explain the role of Governor.

g) Explain the importance of Election Commission.

Q4) Attempt any one out of two from the following. [1×10=10]

a) Explain the salient features of the constitution of India.

b) Explain the power and functions of the Chief Minister.


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(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) nwT>rb 12 àíZm§n¡H$s 10 àíZm§Mr CÎmao Xçm. [10×1=10]

A) ^maVr¶ KQ>Zm g{‘VrMo h§Jm‘r AÜ¶j åhUyZ H$moUmMr {ZdS> H$aÊ¶mV Ambr?

~) ^maVr¶ KQ>Zmg{‘VrMo AÜ¶j H$moU hmoVo?

H$) KQ>Zm g{‘VrMr n{hbr ~¡R>H$ H|$ìhm ^abr hmoVr?

S>) ^maVmMo gÜ¶mMo amï´>nVr H$moU AmhoV?

B) ^maVr¶ g§{dYmZmVrb ‘mJ©Xe©H$ VÎdo H$moUË¶m Xoem§H$Sy>Z KoÊ¶mV Ambr?

’$) ^maVmV H$moUË¶m àH$maMr emgZ àUmbr Amho?

¶) ‘wb ŷV A{YH$mamMm g‘mdoe H$moUË¶m àH$aUmV H$aÊ¶mV Ambm?

a) bmoH$g^m d amÁ¶g^m ¶m§À¶m g§¶wº$ ~¡R>H$sMo AÜ¶jnX H$moU ŷf{dVmo?

b) H|$Ð d amÁ¶ bmoH$godm Am¶moJmMr VaVwX H$moUË¶m H$b‘mÝdm¶o H$aÊ¶mV Ambr Amho?

d) ‘w»¶‘§Í¶mMr {Z¶wº$s H$moU H$aVmo?

e) amÁ¶nmbmg H$m¶Xoera g„m H$moU XoVmo?

g) gdm}ƒ Ý¶m¶mb¶m‘Yrb Ý¶m¶mYrem§Mo godm{Zd¥ÎmrMo d¶ {H$Vr Amho?

P4492
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à.à.à.à.à.2) nwT>rb 7 àíZm§n¡H$s 5 àíZm§Mr CÎmao Xçm. [5×5=25]

A) ^maVr¶ amÁ¶ ì¶dñWoMo ñdê$n ñnï> H$am.

~) g‘VoÀ¶m A{YH$mam{df¶H$ MMm© H$am.

H$) ^maVr¶ g§KamÁ¶mMr d¡{eï>ço ñnï> H$am.

S>) ‘wb ŷV H$V©ì¶ ñnï> H$am.

B) ^maVmVrb KQ>Zm Xþê$ñVrVrb à{H«$¶m ñnï> H$am.

’$) {dYmZg ôMo A{YH$ma d H$m‘o.

¶) OZ{hV ¶m{MH$m åhUOo H$m¶?

à.à.à.à.à.3) nwT>rb 7 n¡H$s 5 àíZm§Mr CÎmao Xçm. [5×5=25]

A) H$moUVohr 5 ‘wb ŷV A{YH$ma {bhm.

~) ^maVr¶ amÁ¶KQ>ZoÀ¶m gaZmå¶mMo ‘hÎd ñnï H$am.

H$) e¡j{UH$ d gm§ñH¥${VH$ A{YH$ma.

S>) gaH$m[a¶m Am¶moJ ñnï> H$am.

B) bmoH$g ôÀ¶m g^mnVtMr A{YH$ma d H$m‘o.

’$) amÁ¶nmbmMr ŷ{‘H$m ñnï> H$am.

¶) {ZdS>UyH$ Am¶moJmMo ‘hÎd ñnï> H$am.

à.à.à.à.à.4) nwT>rb 2 n¡H$s 1 àíZmMo CÎma Xçm. [1×10=10]

A) ^maVr¶ amÁ¶KQ>ZoMr R>iH$ d¡{eï>ço ñnï> H$am.

~) ‘w»¶‘§Í¶m§Mo A{YH$ma d H$m¶© gm§Jm.


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Q1) Attempt any TEN of the following : [10]

a) State any two algebraic properties of  .

b) For any ,x prove that 0. 0.x 

c) True or False? The sequence 2
1

1n
 
  

converges to 0.

d) Define bounded sequence of real numbers.

e) Find domain of the real valued function 
1( ) .

4 2
f x

x




f) State   definition of limit.

g) Find supremum and infimum of the set 
1 : .n
n

  
 



h) Find derivative of sin( ) .xf x e

i) Find third derivative y2 of y = (x + 1)3.

j) Define linear first order differential equation.

P.T.O.

SEAT No. :
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k) Define Clairaut’s differential equation.

l) Is the differential equation 5ydx + 2xdy = 0 is exact? Justify.

Q2) Attempt any FIVE of the following : [25]

a) State and prove Bernoulli’s inequality.

b) Prove that 3  is not a rational number.

c) Prove that every convergent sequence is bounded.

d) Evaluate: 10lim 1 .
n

n n

  
 

e) Using Squeeze theorem prove that 2

0

1lim sin 0.
n

x
x

   
 

f) State and prove Cantor Nested Interval Theorem.

g) Examine the continuity of the following function at 5.

| 5 | , 5;
( ) 5

0, 5.

x x
f x x

x

  
 

Q3) Attempt any FIVE of the following : [25]

a) State and prove Rolle’s Theorem.

b) Verify Lagranges Mean Value Theorem for ( ) log on[1, ].f x x e

c) Evaluate: 
0

1 1lim .
sinx x x

  
 

d) Find nth derivative of 
1 .

( )
y

ax b



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e) Solve the initial value problem , (1) 1.dy x y
dx y

 

f) Find the general solution of 21dy y x
dx x

  .

g) Solve: (5x2 – y)dx + (3y2 – x)dy = 0.

Q4) Attempt any ONE of the following : [10]

a) State and prove Leibnitz’s theorem.

b) Prove that the necessary and sufficient condition for the differential

equation M(x, y) dx + N(x, y) dy = 0 to be exact is 
M N .
y x

 


 


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2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¡&
3) 5 (nm±M) A§H$m| Ho$ àíZm| Ho$ CÎma 50 go 100 eãXm| ‘| {b{IE&
4) 10 (Xg) A§H$m| Ho$ àíZm| Ho$ CÎma 100 go 200 eãXm| ‘| {b{IE&

P4379

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht 10 àíZm| Ho$ CÎma EH$ dm³¶ ‘| {b{IE& [10]

i) "{Zambm' H$m nyam Zm‘ {b{IE&

ii) "H$m{bXmg' H${dVm Ho$ H${d H$m¡Z h¡?

iii) "Yy{‘b' H$m nyam Zm‘ {b{IE&

iv) am‘M§Ð ew³b Ho$ {Z~§Y g§J«h H$m Zm‘ ~VmBE&

v) ‘mYdamd gào H$s H$hmZr H$m Zm‘ ~VmBE&

vi) JwbOma H$s H${dVm ‘| {H$Vm~o H$hm± go Pm±H$Vr h¡?

vii) "{Z~§Y' H$m AW© ~VmBE&

viii) B©XJmh H$hmZr Ho$ à‘wI nmÌm| Ho$ Zm‘ {b{IE&

ix) AbH$m gamdJr H$s H$hmZr H$m Zm‘ {b{IE&

x) "¶wÕ' H$hmZr {H$g {df¶ na AmYm[aV h¡?

xi) "Ako¶' H$m nyam Zm‘ {b{IE&

xii) gaOy ¡̂¶m ¶h aMZm gm{hË¶ H$s H$m¡Z-gr {dYm H$m àH$ma h¡?

[Total No. of Pages : 2
SEAT No. :

P.T.O.
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à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht nm±M àíZm| Ho$ CÎma g§jon ‘| {b{IE& [25]

i) "‘¢ Zra ^ar XþI H$s ~Xbr' H${dVm H$m Ame¶ AnZo eãXm| ‘| {b{IE&

ii) B§Q>aZoQ> H$m ‘hÎd {b{IE&

iii) "¶wÕ' H$hmZr H$s H$WmdñVw ñnï> H$s{OE&

iv) "AH$~ar bmoQ>m' H$hmZr ‘| ì¶º$ ì¶§J H$mo ñnï> H$s{OE&

v) "amoQ>r Am¡a g§gX' H${dVm H$m ^mdmW© {b{IE&

vi) gaOy ¡̂¶m H$m M[aÌ-{MÌU H$s{OE&

vii) AÀN>o dº$m Ho$ JwU {b{IE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht nm±M àíZm| Ho$ CÎma g§jon ‘| {b{IE& [25]

i) "Oyhr H$s H$br' H${dVm H$m ^mdmW© {b{IE&

ii) "EH$ Q>moH$ar ^a {‘Q²>Q>r' H$hmZr H$s H$WmdñVw {b{IE&

iii) gyÌ g§MmbH$ Ho$ {bE Amdí¶H$ JwU {b{IE&

iv) "amoeZr Ho$ Cg nma' H${dVm ‘| ehar OrdZ H$s dmñV{dH$Vm ì¶º$ hþB© h¡& ñnï> H$s{OE&

v) "à{VemoY' EH$m§H$s H$m CX²Xoí¶ ñnï> H$s{OE&

vi) gaOy ¡̂¶m H$m M[aÌ-{MÌU H$s{OE&

vii) gw~moY H$m M[aÌ-{MÌU H$s{OE&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$gr EH$ H$m àíZ H$m CÎma {dñVma go {b{IE& [10]

i) "amoQ>r Am¡a g§gX' H${dVm ‘| H${d H$m¡Z-gm g§Xoe XoZm MmhVo h¢& gmoXmhaU ñnï> H$s{OE&

ii) " «̂ï>mMma EH$ g‘ñ¶m' Bg {df¶ na {Z~§Y {b{IE&





Q1) Attempt any ten out of twelve from the following. [10×1=10]
a) What does mean by administrative accountability?
b) What does mean by Line Agency?
c) Write down any two disadvantage of Public-Private Partnership.
d) Write any two names of traditional approaches of Public Administration.
e) Define bureaucracy.
f) What does mean by informal training?
g) What does mean by participatory budget?
h) What does mean by Audit?
i) What does mean by Zero hour?
j) Write any two types of bureaucracy.
k) What is internal recruitment?
l) What does mean by Real Tapism?

Q2) Attempt any five out of seven from the following. [5×5=25]
a) Write significance of public Administration.
b) Write meaning and bases of organization.
c) Write role and functions of Chief Execuative.
d) What is recruitment? Write it's types.
e) Write meaning and importance of Financial Administration.
f) What is the functions of administrative tribunal.
g) Write in brief of about right to public services.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Attempt any five out of seven from the following. [5×5=25]
a) Write the characteristics of Public Administration.
b) Write the Ways of Judicial control over public Administration.
c) Write the importance of personal Administration.
d) Write the difference between Public and Private Administration.
e) Write the meaning of budget and it's types.
f) Explain decision making process in detail.
g) Write the characteristics of bureauecracy.

Q4) Attempt any one out of two from the following. [1×10=10]
a) Explain the development process of Public Administration.
b) Write the meaning, Nature and Scope of personal administration.


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(_amR>r ê$nm§Va)
doi : 3 Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P-4380

àíZ 1) Imbrb 12 n¡H$s H$moUVohr 10 gmoS>dm. [10 × 1 = 10]
A) àemgH$s¶ CÎmaXm{¶Ëd åhUOo H$m¶?
~) bmBZ A{^H$aU (Line Agency) åhUOo H$m¶?
H$) gmd©O{ZH$ - ImOJr ^m{JXmarMo H$moUVohr XmoZ VmoQ>o {bhm.
S>) bmoH$àemgZmÀ¶m Aä¶mgmMo H$moUË¶mhr XmoZ Ñ{ï>H$moZm§Mr Zmdo {bhm.
B) ZmoH$aemhrMm AW© {bhm.
’$) AZm¡nMm[aH$ à{ejU åhUOo H$m¶?
¶) gh^mJr A§XmOnÌH$ åhUOo H$m¶?
a) boImn[ajU åhUOo H$m¶?
b) ewÝ¶ àha (Zero Hour) åhUOo H$m¶?
d) ZmoH$aemhrMo H$moUVohr XmoZ àH$ma {bhm.
e) A§VJ©V ^aVr åhUOo H$m¶?
f) bmb{H$VrMm H$ma^ma (Real Tapism) åhUOo H$m¶?

àíZ 2) Imbrb 7 n¡H$s H$moUVohr 5 gmoS>dm. [5 × 5 = 25]
A) bmoH$àemgZmMo ‘hÎd {bhm.
~) g§KQ>ZoMm AW© Am{U AmYma {bhm.
H$) ‘w»¶ H$m¶©H$mar A{YH$mè¶mMr ŷ{‘H$m Am{U H$m¶©o {bhm.
S>) àemgH$s¶ ^aVr åhUOo H$m¶? Ë¶mMo àH$ma {bhm.
B) {dÎmr¶ àemgZmMm AW© Am{U ‘hÎd {bhm.
’$) àemgH$s¶ Ý¶m¶m{YH$aUmMr H$m¶©o {bhm.
¶) bmoH$godoÀ¶m h¸$m~XX²b WmoS>³¶mV {bhm.

3 P.T.O.
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àíZ 3) Imbrb 7 n¡H$s H$moUVohr 5 gmoS>dm. [5 × 5 = 25]

A) bmoH$àemgZmMr d¡{eï>¶o {bhm.

~) bmoH$àemgZmdarb Ý¶m¶mb¶rZ {Z¶§ÌUmMo ‘mJ© {bhm.

H$) godH$ àemgZmMo ‘hÎd {bhm.

S>) bmoH$àemgZ Am{U ImOJr àemgZmVrb ’$aH$ ñnï> H$am.

B) A§XmOnÌH$mMm AW© gm§JyZ Ë¶mMo àH$ma {bhm.

’$) {ZU©¶ {ZYm©aUmMr à{H«$¶m ñnï> H$am.

¶) ZmoH$aemhrMr d¡{eï>¶o {bhm.

àíZ 4) Imbrb 2 n¡H$s H$moUVohr 1 gmoS>dm. [1 × 10 = 10]
A) bmoH$àemgZmMr {dH$mg à{H«$¶m ñnï> H$am.

~) godH$ àemgZmMm AW©, ñdê$n Am{U ì¶már {bhm.


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Q1) Attempt any ten out  of twelve of the following : [10 × 1 = 10]

a) Why were the Kelveys not invited to see the Doll’s house?

b) Which are the sights of nature that we ignore in the poem ‘The World is
Too Much With Us’?

c) What principle helped Dr. APJ Abdul Kalam succeed and at the same
time feel a sense of rightful achievement?

d) Why did Framton Nuttle come to the Sappleton household?

e) By what name is the squirrel referred to in the poem ‘The Mountain and
The Squirrel’?

f) What was Arun watching when Deepak met him?

g) Which are the flowers mentioned in the poem ‘I Remember, I Remember’?

h) Who are the two speakers in the poem ‘The Listeners’?

i) What is Morris’s present occupation in ‘The Monkey’s Paw’?

j) When was the IPA established?

k) Why does the poet compare his mood to a bird in the poem ‘Sonnet 29’?

l) Give two example of words with dental sound.

P.T.O.
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Q2) Attempt any five out of seven from the following : [5 × 5 = 25]

a) Rewrite the story ‘The Open Window’ from Framton Nuttle’s point of
view.

b) What do you understand by the phrase ‘Sordid boon’ in the poem. The
World is Too Much With Us’?

c) Discuss the similarities that the poet refers to while elaborating on the
universality of  humankind in the poem ‘No Men are Foreign’.

d) Define and explain the concept of phoneme in your own words.

e) In what way the supernatural setting of the poem enhances the significance
of the poem ‘The Listeners’?

f) Discuss the theme of spiritual journey in the poem ‘Up Hill’.

g) Write a short note on word stress.

Q3) Attempt any five out of the seven from the following : [5 × 5 = 25]

a) Write a short note on the significance of the title ‘Swansong’.

b) Explain the term ‘minimal pairs’ with appropriate examples.

c) Why does O. Henry compare Harvey Maxwell  to a machine in the story
‘The Romance of a Busy Broker’?

d) How does Thomas Hood describes the sweet memories of his childhood
in the poem’ ‘I Remember, I Remember’?

e) Describe the significance of the window in Sakis story ‘The Open
Window’.

f) Analyse the theme of class consciousness in the story ‘The Doll’s House’.

g) Why does R.K. Narayan call his essay ‘Toasted English: Justify how it
is a suitable title.

Q4) Attempt any one out of two from the following : [1 × 10 = 10]

a) Write a critical analysis of ‘Sonnet 29’ by William Shakespeare.

b) Describe the atmosphere and setting of the play ‘The Monkey’s Paw’.





Q1) Answer the following questions in one sentence. (Any 10) [10]

i) What should be the teaching method in primary education?

ii) Which age group has the highest role of malnutrition?

iii) Write means of mass media?

iv) Who founded the Vishwabharati Santha?

v) Write the meaning of Pre-Primary Education.

vi) Write the full form of RTE.

vii) Write the definition of psychology.

viii) Who founded satyashodhak samaj?

ix) What are the types of Education?

x) Why was the university commission established?

xi) Write the definition of non-formal education.

xii) What exactly does 'Earn and Learn' means?

Total No. of Questions : 4]
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Q2) Write any five of the following in about 50-100 words. [25]

i) Write the functions of Television.

ii) Write the importance of education in social development.

iii) What were the aims of education in ancient India?

iv) Write a note on Tarabai Modak.

v) Write the characteristics of process of Education?

vi) Write the advantages of Introspection method.

vii) Write a note on Education and Social development.

Q3) Answer any five of the following in about 50-100 words. [25]

i) Write short note on Kothari Commission.

ii) Write the characteristics of informal education.

iii) Write the importance of newspaper.

iv) Write note on - curriculum from the point of view of Rabindranath Tagore.

v) Write short note on Anutai Wagh.

vi) Write the limitations of the observation method.

vii) Write note on elementary education in the Twenty - First Century.

Q4) Answer one of the following question in 200-250 words. [10]

i) Explain the meaning and scope of educational psychology with examples.

ii) Write in detail the functions and importance of Internet.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao EH$m dmŠ`mV {bhm. (H$moUVohr Xhm) [10]

i) àmW{_H$ {ejUmV AÜ`mnZ nÕVr H$er Agmdr?

ii) Hw$nmofUmMo gdm©V OmñV à_mU H$moUË`m d`moJQ>mV AmT>iVo?

iii) g_yh g§nH$m©Mr gmYZo H$moUVr?

iv) {díd^maVr g§ñWoMr ñWmnZm H$moUr Ho$br?

v) nyd© àmW{_H$ {ejUmMm AW© {bhm.

vi) RTE Mo nyU© én {bhm.

vii) _mZgemómMr ì`m»`m {bhm.

viii) gË`emoYH$ g_mOmMr ñWmnZm H$moUr Ho$br?

ix) {ejUmMo àH$ma H$moUVo?

x) {dXçmnrR> Am`moJmMr ñWmnZm H$m H$aÊ`mV Ambr?

xi) Am¡nMmarH$ {ejUmMr ì`m»`m {bhm.

xii) "H$_dm d {eH$m' `mMm Zo_H$m AW© H$m`?

3 P.T.O.



[6041]SODL-112 4

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV CÎmao {bhm. (H$moUVohr nmM) [25]

i) XÿaXe©ZMr H$m }̀ {bhm.

ii) g_mO {dH$mgmV [ejUmMo _hËd {bhm.

iii) àmMrZ ^maVmVrb {ejUmMo hoVy H$moUVo hmoVo?

iv) {Q>n {bhm - Vmam~mB© _moS>H$.

v) {ejU à{H«$ òMr d¡{eï> ò {bhm.

vi) AmË_{ZarjU nÕVrMo \$m`Xo {bhm.

vii) {Q>n {bhm - {ejU Am{U gm_m{OH$ {dH$mg.

àíZ àíZ àíZ àíZ àíZ 3) WmoS>Š`mV CÎmao {bhm. (H$moUVohr nmM) [25]

i) {Q>n {bhm - H$moR>mar Am`moJ

ii) ghO {ejUmMo d¡{eîQ>ço {bhm.

iii) d¥ÎmnÌmMo _hÎd {bhm.

iv) {Q>n {bhm - aqdÐZmW Q>mJmoam§À`m Ñ{ï>H$moZmVyZ Aä`mgH«$_

v) {Q>n {bhm - AZwVmB© dmK

vi) {ZarjU nÕVrÀ`m _`m©Xm {bhm.

vii) {Q>n {bhm - 21 ì`m eVH$mVrb àmW{_H$ {ejU

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo g{dñVa CÎma {bhm. [10]

i) e¡j{UH$ _mZgemómMm AW© d ì`már CXmhaUmgh ñnï> H$am.

ii) B§Q>aZoQ>Mo H$m ©̀ d _hÎd g{dñVa {bhm.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s 10 àíZm§Mr CÎmao 20 eãXm§V {bhm. [10]

A) H$WoMo KQ>H$ H$moUVo?

~) H$WoMo àH$ma {bhm.

H$) "bmb {MIb' `m H$WoVyZ H$moUVm {df` Ambm Amho?

S>) Jm¡ar Xoenm§S>o `m§À`m "nmD$g Ambm_moR>m' `m H$WoVrb nmÌm§Mr Zmdo gm§Jm.

B) Cfm{H$aU AmÌm_ `m§Mr "~mOm' hr H$Wm H$moUË`m H$Wmg§J«hmVyZ KoVbr Amho.

\$) "O|ìhm _r OmV Mmoabr hmoVr' `m H$WoMo boIH$ H$moU AmhoV.

`) J«m_rU gm{hË`mVrb H$WmH$mam§Mr _hËdmMr Zmdo gm§Jm.

a) H$WoMo àdmhmZwgma dJuH$aU gm§Jm.

b) g_H$mbrZ _amR>r H$Wm `m g§nmXrV J«§WmÀ`m g§nmXH$m§Mr Zmdo gm§Jm.

d) g§O` H$b_H$a `m§Zm H$moUVo nwañH$ma {_imbo Vo gm§Jm.

e) "~Ia Am{U VwP§ _mP§ Ka' `m XrK©H$Wm g§J«hmÀ`m boIH$mMo Zmd gm§Jm?

g) "g_H$mbrZ _amR>r H$Wm' `m g§nmXrV J«§Wm_Ü ò EHy$U {H$Vr H$Wm AmhoV.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s 5 àíZm§Mr CÎmao 100 eãXm§V {bhm. [25]

A) "~mny' `m ì`{º$aoIoÀ`m Am ẁî`mVrb g§Kf© ~Ôb WmoS>Š`mV {bhm.

~) "bmb {MIb' `m H$WoÀ`m erf©H$mMr g_nH©$Vm ñnï> H$am.

H$) ãbm°J boIZmMo àH$ma {bhm.

S>) "{dÇ>b Vmo Ambm Ambm' `m EH$m§H$sHo$Vrb nmÌo H$moUVr Vo gm§Jm.

B) Cfm{H$aU AmÌm_ `m§À`m "~mOm' `m H$WoMr d¡{eîQ>ço gm§Jm.

\$) "O|ìhm _r OmV Mmoabr hmoVr' `m H$WoMr d¡{eîQ>ço gm§Jm.

`) "h§S>m^a Mm§XÊ`m' `m EH$m§{H$Ho$Vrb g§̂ m' `m ì`{º$aoIoMm n[aM` WmoS>Š`mV {bhm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s 5 àíZm§Mr CÎmao 100 eãXm§V {bhm. [25]

A) "{dÇ>b Vmo Ambm Ambm' `m EH$m§{H$Ho$Vrb g§dmX WmoS>Š`mV ñnï> H$am.

~) "H$ï>mMr ^mH$ar' `m H$WoÀ`m AmYmao "{dZm`H$' `m ì`{º$ aoIoMo {MÌU WmoS>Š`mV {bhm.

H$) gmd©ÌrMo ì`{º${MÌU "nmD$g Ambm _moR>m' `m H$WoVyZ bo{IHo$Zo H$go Ho$bo Amho.

S>) amO|Ð _bmogo `m§À`m "XJS> XdmImZm' `m H$WoMo e¡br{deof H$moUVo Vo {bhm.

B) "h§S>m^a Mm§XÊ`m' `m EH$m§{H$Ho$Mo {deof WmoS>Š`mV {bhm.

\$) KmofdmŠ` boIZ åhUOo H$m`?

`) "~mOm' `m H$WoVyZ H$moUË`m gm_m{OH$ g_ñ òda àhma Ho$bm Amho Vo WmoS>Š`mV {bhm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s EH$m àíZmMo CÎma 200 eãXm§V {bhm. [10]

A) ew^_§Jb gmdYmZ .....! `m H$WoMr d¡{eîQ>ço ñnï> H$am.

~) EH$m§{H$Ho$À`m "g§{dYmZmH$' `m KQ>H$mMr AmoiI H$ê$Z Úm.





Q1) Write an answers in one sentence (any ten) : [10]

EH$m dmŠ`mV CÎmao {bhm (H$moUVohr Xhm)

i) "CÚmoJndª' H$pñ_Z² J«ÝWo ApñV?

ii) "H$m¡{Q>br`-AW©emó_²' BË`ñ_mV² J«ÝWmV² H$… nmR>… ñdrH¥$V…?

iii) "aKwd§e_²' B{V _hmH$mì ò H${V gJm©… gpÝV?

iv) "XþJ©bjU_²' A §̀ nmR>… H$ñ_mV² J«ÝWmV² ñdrH¥$V…?

v) "Aï>mÜ`m`r' B{V H$ñ` J«ÝW…?

vi) "VmoQ>H$' B{V d¥Îmñ` JU… H$… ApñV?

vii) Ho$Zmon{ZfX² H$ñ` doXñ`?

viii) ""H$m Efm H$m?'' B{V dmŠ`ñ` AW©… H$…?

ix) "_hm^maV_²' B{V H$ñ` J«ÝW…?

x) ~mU^Å>ñ` J«ÝWñ` Zm_ {H$_²?

xi) "BÝÐdO«m' B{V d¥Îmñ` JU… H$… ApñV?

xii) nm{UZr`gyÌmZwgma§ "H$aU' B{V H$maH$ñ` ì`m»`m§ {bIV &

Total No. of Questions : 4]
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Q2) A) Write a detailed answer (any one) : [20]

g{dñVa CÎma {bhm (H$moUË`mhr EH$mMo) …

i) Write a summary of the lesson "A{ÛVr`mo ~mU…'.

"A{ÛVr`mo ~mU…' `m nmR>mMm gmam§e {bhm.

ii) "amg^l¥JmbH$Wm' - Write in your own words.

"amg^l¥JmbH$Wm' Amnë`m eãXmV {bhm.

B) Translate any one of the following into English or Marathi : [5]

Imbrbn¡H$s H$moUË`mhr EH$mMo B§J«Or qH$dm _amR>r _Ü ò ^mfm§Va H$am …

i) ì`mgmo doXmÝVemók… {gÕmZm§ H${nbmo Jwé… &

Xe©Zm{Z àdº$mamo kmZ{dkmZnmaJm… &

am_m`U§ ^maVm»`mZ{_{Vhmgm¡ gw{dlwVm¡ &

{dœmZÝX àXmVmam¡ dmë_r{H$ì`mg{Z{_©Vr &&

ii) Ana§ ËdXr §̀ JrV§ Z _Ywañda§ e§IeãXmZwH$ma§ XÿamX{n lỳ Vo & VXÌ joÌ ajmnwéfm… gpÝV &
Vo CËWm` dY§ ~ÝY§ dm H$[aî`pÝV & VØj` VmdV² A_¥V_`m… {M ©̂Q>r… & _m Ëd_² AÌ
JrVì`mnmanamo ^d & VV² lwËdm amg^ Amh, - ""^mo! dZml`ËdmV Ëd§ JrVag§ Z dopËg & VoZ
EVX~«dr{f & Cº$ü ea‚`moËñZmhVo Xÿa§ V_{g {à`g{ÞYm¡ & YÝ`mZm§ {de{V lmoÌo JrVP§H$maOm
gwYm &''

Q3) A) Write a detailed answer (any one) : [20]

g{dñVa CÎma {bhm (H$moUË`mhr EH$mMo) …

i) Explain the lesson "H$mì`emó{dZmoX…' with examples.

"H$mì`emó{dZmoX…' hm nmR> gmoXmhaU ñnï> H$am.

ii) "~ÕmÄO{b… H¥$nmH$m¬r' - Explain this lesson in detail.

"~ÕmÄO{b… H¥$nmH$m¬r' hm nmR> g{dñVa ñnï> H$am.

B) Explain with reference to the context (any one) : [5]

g§X^m©gh ñnï>rH$aU H$am (H$moUVohr EH$) …

i) àmáo g{Þ{hVo _aUo Z{h Z{h aj{V Sw>H¥$Äm² H$aUo &

ii) Amam_-àmgmX-do{XH$m`m§ H«$sS>{Ø… nmamdV¡… nm{VV§ ^doV² &
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Q4) Write a critical paragraph on any one of the following : [10]

Imbrbn¡H$s H$moUË`mhr EH$mda {ddoMH$ n[aÀN>oX {bhm …

i) ZmQ>çemó_²

ii) _hmH${dH$m{bXmg…





Q1) Answer the following questions in a sentence each (Any 10) : [10]

a) Who established the first Department of Psychology in India and where.

b) What is educational psychology.

c) Define Perception.

d) Define self-concept.

e) What is pro-social behaviour.

f) Define group.

g) What do you mean by learning?

h) Define motivation.

i) Name the Big Five Traits.

j) Define conformity.

k) Name the ABC component of attitude.

l) What is self-image?

Total No. of Questions : 4]
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Q2) Answer any 5 of the following 7 questions in 50-100 words : [25]

a) Define social psychology.

b) Explain the goals of psychology.

c) What are different types of attention?

d) Explain the interference theory of forgetting.

e) Explain the concept of homeostasis.

f) What are the internal determinants of attraction?

g) What are various levels of aggression?

Q3) Write short note on any 5 of the following : [25]

a) What are the factors influencing conformity?

b) Explain Impression Management.

c) What are biological motives?

d) Explain different approaches in understanding social behaviour.

e) Explain conflict resolution techniques.

f) Explain Big Five theory of personality.

g) What is meant by Psychoanalysis?

Q4) Answer one of the following questions in 150-200 words : [10]

a) Explain Transactional Analysis.

b) Explain various branches of psychology.





Total No. of Questions : 4]

[6041]-SODL-115
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PSYCHOLOGY
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2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P-4588

àíZ 1) nwT>rb àíZmMr EH$m dmŠ`mV CÎmao X²̀ m. (H$moUVohr Xhm) [10]

A) ^maVm_Ü`o n{hbm _mZgemó {d^mJ H$moUr d Hw$R>o ñWmnZ Ho$bm?

~) e¡j{UH$ _mZgemó åhUOo H$m`?

H$) Ñ{ï>H$moZ ñnï> H$am.

S>) ñd… gH§$ënZm ñnï> H$am.

B) gm_m{OH$ dV©Z åhUOo H$m`?

\$) g_wh åhUOo H$m`?

`) AÜ``Z åhUOo H$m`?

a) àoaUm åhUOo H$m`?

b) à_wI nmM d¡{eï>ço (Big Five Traits) H$moUVo AmhoV.

d) AZwê$nVm åhUOo H$m`?

e) A{^d¥ÎmrMo ABC KQ>H$ ñnï> H$am.

f) ñd… àVr_m åhUOo H$m`?

3 P.T.O.
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àíZ 2) nwT>rb àíZmMr 50 Vo 100 eãXm§V CÎmao X²̀ m. (H$moUVrhr nmM) [25]

A) gm_m{OH$ _mZgemó åhUOo H$m`?

~) _mZgemómMo hoVw ñnï> H$am.

H$) AdYmZMo {d{dY àH$ma H$moUVo AmhoV?

S>) {dgUmè`mÀ`m ì`Ë`` {gÕm§V ñnï> H$am?

B) Homeostasis hr g§H$ënZm ñnï> H$am?

\$) AmH$f©UmMo A§VJ©V J¥hVrHo$ H$moUVr?

`) AmH«$_H$VoMo {d{dY ñVa ñnï> H$am?

àíZ 3) nwT>rb àíZmMr WmoS>Š`mV CÎmao X²̀ m. (H$moUVrhr nmM) [25]

A) AZwê$nVoda à^md Q>mH$Umao KQ>H$ H$moUVo AmhoV?

~) à^md ì`dñWmnZ ñnï> H$am.

H$) O¡{dH$ hoVw åhUOo H$m`?

S>) gm_m{OH$ dV©Z g_OmdwZ hmoÊ`mMo {d{dY Ñ{ï>H$moZ ñnï> H$am?

B) g§Kf© {ZamH$aU V§Ìo H$moUVo AmhoV.

\$) ì`{º$_ËdmMm à_wI nmM d¡{eï>ço (Big Five Traits) {gÕm§V H$moUVm?

`) _Zmo{díbofU åhUOo H$m`?

àíZ 4) nwT>rb àíZmMr 150 Vo 200 eãXmV CÎma X²̀ m. (H$moUVohr EH$) [10]

A) Transactional Analysis åhUOo H$m` Vo ñnï> H$am?

~) _mZgemómÀ`m {d{dY emIm {dñV¥VnUo ñnï> H$am?





Q1) Write answers in one sentence (Any Ten) : [10]

a) Name the branches of Physical Geography.

b) What is Gutenberg discontinuity?

c) What is Sima?

d) What is Laurentia?

e) What is Ionosphere?

f) List the three factors that act on the atmosphere to either create or alter
winds.

g) What is seamount?

h) Who wrote the book "Principles of Human Geography?

i) Who proposed Demographic Transition Theory?

j) Name any two economic factors affecting population distribution.

k) What is meant by urbanisation?

l) Write any two problems of Indian agriculture.

Total No. of Questions : 4]
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Q2) Write a short note in 50 words (any five) : [25]

a) Scope of Physical Geography.

b) Stratosphere.

c) Tides.

d) Significance of Human Geography.

e) Reasons of low sex-ratio in India.

f) Urbanization in Maharashtra.

g) Social problems of Indian agriculture.

Q3) Write the answers in 50 words (any five) : [25]

a) Explain the concept of 'Cycle of Erosion.'

b) What is greenhouse effect?

c) Write a detailed note on the formation of volcanic islands.

d) Explain the interdisciplinary nature of Human Geography.

e) Critically examine the 'Demographic Transition Theory.'

f) Describe the difference between rural and urban settlement.

g) Explain the types of Indian agriculture with suitable examples.

Q4) Write the answer in 150 words (any one) : [10]

a) Briefly explain the factors affecting the distribution of population.

b) With a neat diagram, explain in detail the bottom relief features of ocean
floor?


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^yJmob
124 : àmH¥${VH$ Am{U _mZdr ^yJmob

(2019 Pattern)
(_amR>r ê$nm§Va)

doi : 3 Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) Amdí`H$ {VWo gw~H$ AmH¥$Ë`m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P-4589

àíZ àíZ àíZ àíZ àíZ 1) EH$m dmŠ`mV CÎmao {bhm. (H$moUVohr Xhm) … [10]

A) àmH¥${VH$ ŷJmobmÀ`m emIm§Mr Zmdo {bhm.

~) JQ>oZ~J© {dbJVm åhUOo H$m`?

H$) gm`_m åhUOo H$m`?

S>) bm°ao{e`m åhUOo H$m`?

B) Am`ZmdaU åhUOo H$m`?

\$) dmam {Z_m©U H$aÊ`mgmR>r qH$dm ~XbÊ`mgmR>r dmVmdaUmda H$m ©̀ H$aUmè`m VrZ KQ>H$m§Mr
`mXr H$am.

`) gmJar nR>ma åhUOo H$m`?

a) "_mZdr ŷJmobmMr _ybVÎdo' hm J«§W H$moUr {b{hbm?

b) "bmoH$g§»`m g§H«$_U {gÕm§V' H$moUr _m§S>bm.

d) bmoH$g§» òÀ`m {dVaUmda n[aUm_ H$aUmao H$moUVohr XmoZ Am{W©H$ KQ>H$ gm§Jm.

e) ZmJarH$aU åhUOo H$m`?

f) ^maVr` eoVrÀ`m H$moUË`mhr XmoZ g_ñ`m {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) àË òH$s 50 eãXmV {Q>nm {bhm. (H$moUVohr nmM) … [25]

A) àmH¥${VH$ ŷJmobmMr ì`már

~) pñWVm§~a

H$) ^aVr-AmohmoQ>r

S>) _mZdr ŷJmobmMo _hËd

B) ^maVmVrb qbJ-JwUmoÎma H$_r AgÊ`mMr H$maUo

\$) _hmamï´>mVrb ZmJarH$aU

`) ^maVr` eoVrÀ`m gm_m{OH$ g_ñ`m

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr nmM) … [25]

A) "jaUMH«$' g§H$ënZm ñnï> H$am.

~) h[aVJ¥h n[aUm_ åhUOo H$m`?

H$) Ádmbm_wIr` ~oQ>mÀ`m {Z{_Vrda g{dñVa {Q>n {bhm.

S>) _mZdr ŷJmobmMo Am§Va{dÚmemIr` ñdén ñnï> H$am.

B) bmoH$g§»`m g§H«$_U {gÕm§VmMo {Q>H$mË_H$ n[ajU H$am.

\$) J«m_rU d ehar dñVr_Yrb \$aH$ `mda g{dñVa _m{hVr {bhm.

`) ^maVr` eoVrMo àH$ma `mo½` CXmhaUm§gh ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 150 eãXmV {bhm. (H$moUVmhr EH$) … [10]

A) bmoH$g§» òÀ`m {dVaUmda n[aUm_ H$aUmao KQ>H$ g{dñVa dU©Z H$am.

~) gw~H$ AmH¥$VrÛmao gmJaVimdarb ŷéno g{dñVa ñnï> H$am.


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